d-world?22

d-world(D;v;sched;dec)
=det ((Mi,z. M(7).ds(x))
, (Ai,a. M(7).da(locl(a)))
, (ALitg. M(source(l)).dout(l,tg))
, (Mgt if t=20— Az.M(2).init(x)?v (i)
else 1of(CV(d-comp(D;v;sched;dec))(t—1,i)) fi)
, (Ad,t. 1of(20f(CV(d-comp(Dj;v;sched;dec))(t,i))))
, (Ad,t. 20f(20f(CV(d-comp(D;v;sched;dec))(t,i))))
) (;\i.d—machine(i;M(i);dec(i)))

clarification:

d-world{i:1}
(D; v; sched; dec)
(Mi,z. d-m(D; 7).ds(x))
(Aiya. d-m(D; 7).da(locl(a)))
(A tg. d-m(D; source(l)).dout(l,tg))
(Aiyt. if t=90— Az.d-m(Dj 7).init(x)?v(i,x)
else 1of(CV(d-comp(D;v;sched;dec))(t—1,i)) fi)
, (Ad,t. 1of(20f(CV(d-comp(D;v;sched;dec))(t,i))))
, (Ad,t. 20f(20f(CV(d-comp(D;v;sched;dec))(t,i))))
, (;\i.d—machine(i;d—m(D; i);dec(i)))
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